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1. A sprinter feels cramps and pain in the 4. Which one of the following statements

thigh muscies after a run. This is due regarding bile secreted by liver is not
to accumulation of correct?

b m fa} Bile contains enzymes for digestion
(& lactic acid of Hpids,
b) COy % Bile facilitates emulsification of

fats.

fe] pyravic acid
fe} Bile neutralizes the acidic pH of

i) sthanol the food coming from stomach,

id] Bile makes the pH of the food
alkaline and facilitales action of
2. A leal was plucked from a plant on pancreatic enzymes,

8 sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the

final colour of the leaf after the test?

5. The blood pressure of a normal human
being is found to be 120/80 mmMHg
These “numbers’ represent the blood
pressure at

fal Colouriess fa) ventricular contraction and
ventricular relaxation, respectively

{% Creen (b} ventricular relaxation and ventri-
] Blue cular contraction, respectively

fc) auricular contraction and auricular
fd) White relaxation, respectively

(d} wentricular contraction and

auricular contraction, respectvely
4. If the red blood cells (RBCs) of human

biood are isolated and are diluted in

normal saline {an isctonic solution to 6. A person bumed a firecracker in front of
biood), what will happen to the RBCs? 8 cliff and heard its echo 58 after it
burst, The distance of the clif from
fal The RBCs will swell the person, if the speed of the sound
ig 340 m/s, ia close to
(b} The RBCs will swell and burst fa) 1700 m
fe) The RBCs will shrink fb) 170 m
BS m
fdl Mo change in the diameters of 4

the RBCs {d] B30 m
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10. 10 cm WiER 7 S o0 1 e e 27

fa) 01 TIRHZ
(b} 1 EWWE

fc} 10 TSR
fd) 100 WTEHT=L

11. arg & fpffiem fom & wed @ wufim

Tfafas Fw = FEn fifm .
1. MgO % &9 o o= # )
2. UR =FA sl = 7 e R
3. Iy 0 vE IE w R

IHE U W FH-2 FYA 1 B
fa) F=E 1 @A 2
bl T 1 EHE 3
fe) FaE 2 #m 3
fd) 1, 23m3

12. 4@ @ w sffen F dey § 99-8 e w5l

LE

Ca0(s) + HyOfl) — Ca [OH), fag) + 351

1. fn o 91\ wm daEr f s F
fir, farm =mm &)

2. 99 W F 9w Wy dan # g
fom, e = 21

3. ¥ W CaCO; 1 W T = F
fime, can am § frewm co, % ww e
i & arfvfEm ¥

4. "W g AW A yw SR gt
T AEEET i R

4 fim e W W e I g

fa) aE 1 a4

fb) 2 #ma

foj 2#R3

fd) 1,334



7. Consider the following statements abeut

the microphone and the speaker of
a mobile phone ;

1. The microphone converts sound to
0 mechanical signal.

2,  The microphone converts sound to
an electrical signal.

3. The speaker converts a mechanical
signal to sound.

4. The speaker converts an electrical
signal to sound.

Which of the statements given above are
correct?

fal 1 and 3
iy 1 and 4
el 2 and 3
fdl 2 and 4

B. A 100 W electric bulb is used for

10 hours a day, How many units of
electrical energy are consumed by the
bulb in 3 days? {1 unit = 1 KWh)

faj 300
(b 108
fe] 216
id) 033

9. The area under the velocity-time graph

for a particle moving in a straight line
with uniform acceleration gives

faj its average velocity

(B} its net displacement

fcl the distance travelled by it
fd] its average speed
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10, The power of a lens of focal length

10 cm is

fa) 01 dioptre
fb) 1 dioptre
fo} 10 dioptre
fd) 100 dioptre

Consider the following statements
regarding burning of magnesium ribbon
in air :

1. White powder of MgO is formed.

2, It is an example of combustion
reaction.

3, Heat and light are produced,

Which of the statements given above are

correcl?

faj 1 and 2 only

b 1 and 3 only

fe} 2 and 3 only

fd) 1,2 and 3

12. Which of the following statements with

regard to the reaction given below are
carrect?

CaDis} + H;Ofl) — Cal0H); jag) + Heat

1. Quicklime is used for white-
washing of walls.

2.  The solution of slaked lime is used
for whitewashing of walls.

3. CaQ reacts slowly with CO, in
air to form a thin layer of CaCO,
on walls.

4. Calcium hydroxide called ‘slaked
lime" is an inorganic compound.

Select the correct answer using the code

given below.

fa) 1 and 4 only

fbl 2 and 4

fcl 2 and 3

fd} 1,3 and 4

[ P.T.O.
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L34

ja) W =N

(b} FE e weE

fey Trpmifien (Rancidity)

fd] A
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13. Which of the following statements with

regard to heating of lead nitrate powder
over a Name are cormect?

1. Brown fumes of NO are released.
2. Colourless O, gas is released.

3. It im an example of oxidation
reaction.

» Coneider the following chies about a

State of India ;

1. Itis known as land of red river and
blue hills".

2 It containeg three of the aix
physiographic divisions of India.

3. It covers about 2-39 percent of
total areas of the country,

Identify the State on the basis of the
given clues, :

of thermal fa) Karnataka
b Andhra Pradesh

4, It Is an example
decomposition used for the

production of NO, gas. fc}  Assam
" id) Chhattisgarh

Select the correct answer using the code 16. Which of the following sets of States
given below, shares boundary with Telangana?

fa)  Odisha, Andhra Pradesh,
fa) 1 and 2 i

fb) Chhattisgarh, Andhra Pradesh,
(b 2,3 and 4 Karnataka, Madhya Pradesh

fe) Odisha, Andhra Pradesh,
W 18 e 4 Kamataka, Madhya Pradesh

fd] Chhattisgarh, Andhra Pradesh,
Ay 2 a4 oy Kamataka, Maharashtra

17. Rani told her friends that last year she
did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and

14. Which one of the following is mot an Pulicat. Which of the following States

oxidation reaction? did she wisit?
fa) Manipur, Meghalava, Kerala,
fal Rusting of iron Tamil Nadu

fb) Manipur, Meghalaya, Andhra

b} Opening of soda bottle Pradesh, Tamil Nadu

fe) Mizoram, Assam, Kerala,
fo)  Rancidity Tamil Nadu

fd) Mizoram, Assam, Andhra Pradesh,
fd} Combustion Tamil Nadu
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21, Fsfifion § & v el swf WA

= W oage § wemm el 8 osin e

GoiEEd E HWHEEA (appreciation of
currency) Tm &7
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1B. According to the Census 2011, which of

the following statements is/are correct?

1. A person who can only read but
cannot write, 18 not hterate.

2. A person aged seven vears and
above, who can both read and
write with understanding in any
language is treated as literate.

Select the correct answer using the code
given below,

fa) 1 only
B 2 only
fc) Both 1 and 2

fdl HNeither 1 nor 2

19. The Tropic of Cancer passes through how

many coastal and landlocked States
of India, respectively?

fa) 1 and 7
B 2 and 6
el 2 and S5

[ 3 and 5

20. Which one of the following situations can

lead to mflation?

fal Rapid growth of aggregate demand
oubtweighing supply

ib)  Sluggish growth of a&geregate
demand

fe) Reduction in the money supply
{d} Higher levels of unemployment
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21. Which of the following policies help

to raise interest rate unambiguwoushy
and thereby lead to appreciation of
CUTTEncy?

ja) Expangionary fiscal and monetary
palicy

fb Contractionary fiscal and monctary
policy

fe} Contractionary fiscal policy and
expansionary monetary policy

fd} Confractionary monetary policy
and expansionary fiscal policy

22, The contraction of private investment

spending due to deficit apending by the
Grovermment is called

fa) crowding out
b erowding in

fc} pump priming
fd) dumping

23. Which among the following is/are the

objective fobjectives of the NITI Aavog?

1.. Imposing policies o the
States /UTs

2. Allecation of funds at NMational and
Siate levels

3. Design strategies and long-term

policies and programme frame-
works

Select the correct answer using the code
given below.

fa} 1 and 2 only

B 2 and 3 only

fei 1, 2 and 3

{d) 3 only

| P.T.O.




24. Tofm vl sEfn 5 s w mits ofy =fs

I =Y (MPCE} ¥ a5 & i & ghower
&1 fawrfen e gro 6t v o7

fa) ErEEMErEn AR

by e wfisf
fe) widw wikfe
(d) e A

25, Fefaman 4 8 FR-w/ee-d, e Fm

Tawm fims (NSDM) /% T-30w b7

1, TEEEE A

2, FEEAHE (e

3. wEEEE s @ W WM I8
(leveraging)

¥r= fom ™ = = e = o I g

fa) %A 1

B FaEw 2

fe) 1,233

{d) F=a 2303

26. POSHAN siywm % waif=a =9 % fa

Frefafmm A R PRl s e

s nk R8T

1, dEm @ oggEn ¥ fom sim-dnfm
HiEtwE finter-sectoral convergence)

2. sfeens v =it ) SrEfEF w90 (real
time) § 97 % o= ¥9 F fm
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A3 i o g = Wi = W o g

fa) WEE 1

b Fee 2

fg) 1 3R 23H

jd) A 1sade
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27. a8 § TEMN-FWE (writ of certiorar)

w0 o o Pefafm @ @ SR ol ol
A RfET

1. U wftesn @t s B gy
Pk o g=rEA F wfirer % mnfae
w4 A WA & el =l . s
wiitrr ® ol =i = @ W wE oW
=8 A

2, U sl @ afed 3 shirefm &
T = e B

A2 fon 2 = v R o e g
fa) FEE 1

(b) = 2

fe) 1 a2 @9

fd} a1 awada

28, ¥ A WA & T gen gl 3 ‘et

aprdie’ am # B =ds W o T oW
vt o wm?

{a) ST THe VHo T,
fb) T o WMo WERFE
fe) =T e UHe FW
fd) =l Are e wEETA

29. ¥ ¥ 527 FiFT 7 W duw e 4

fa) T Tt =W
fh) i HET—
fc) O s e

fd) T R




24. The computation of poverty in terms
of Monthly Per Capita Consumphion
Expenditure (MPCE) based on the Mixed
Reference Period was recommended

by the
fa] Lakdawals Committes

fb}) Tendulkar Committes
fe} Dandekar Committes

(d) Alagh Committee

25. Which of the following is/are the sub-
mission /sub-missions of the National
Skill Development Mission [NSDM)?

1. Institutional traming
2, DOwerseas employment
4. Leveraging of public infrastructure

Select the correct answer using the code
given below,

fa] 1 only

fb) 2 only

fo 1,2 and 3
fel] 2 and 3 only

26. Which of the following strategies is/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Belect the correct answer uging the code
given below,

fu] 1 only

) 2 only

fc} Both 1 and 2
fd) MNeither 1 nor 2

JNBY-D-GNL/S9A 11

Which of the following conditions is/are
necessary for the issue of a writ of
certiorar in India?

1. There should be a tribunal or an
officer having legal authority to
determine questions affecting
rights of subjects and having a duty
to act judicially,

2, Such tribunal or officer has acted
without jurisdiction.

Eelect the correct answer using the code

given below,
fal 1 only

fb) 2 only
fe) Both 1 and 2

fd} Neither 1 nor 2

28. Who among the following Chief Justices

of India ordered the constitution of
a8 Special Bench called 'Social Justice
Bench" ?

fa) Justice H. L. Dattu

fbl Justice K. G. Balakrishnan
fej Justice R, M. Lodha

fd} Juatice Y. K. Sabharwal

29. Who ameng the following is the author

of the book, Bandi Jivan ?
fa] Rash Behari Bose

fb) Veer Savarkar

fe)  Aruna Aszaf Ali

{d] Sachindraenath Sanyal

[ PT.0.




30. 1937 4 W™ T A, wwen WY FHA

fffies & @ $a-d & vl 4 e T
9 9F (single largest party) ¥ ¥7
i At and o7

f) TaTE i fy
jl)  wm s lasE @9 am
fo) EE #r HEH

jd} ¥HE T 9EH

31. Pt wu v few i

i o9 w1 A W % T g un
il

1. # % 8 ok v g 9l g
ag) W i A & owEl R

2. widt F wht ¥ am | o ofEn Ewd
Lol

TRl FA) B - e R
fa) &A1

(b ¥ 2

fe) 1 #m 2@

fd) A1 a2

32. ‘o & fafim w6 oW R oam Pl

T W B FE- W W e o 8y
fa) WM ¢ S urER g R e
m) Frfm o den % Faen v & awean
fe) wmEm o owfE of T 8 e
fd wEm : o e § smen
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33. T ¥R fR T o owmw qgoam #

Freafefies § 8 w9t 2 el s #7
fa) 9= R TEED
fb) wEEE s et
fe) W s dfm

fd) FOM HA THE

34, Foefafen 4 & 9l Few gt (dual

control structure)] TN TFEATE AT =9
#H - B

fa) ¥ frad gfem =@
fb} 3EE TR

fc) vmA-f=Ea Hm g
fd) = i g

35. FefiaE | | SEE W TAAE FEE (ethnic

community) ®11-m1 87
fa) wiE
(b T
fc) @M
d) =it

36, Fraferfas 7 @ T o 6 etz 9w o= s

s (Chevrons) ¥7
(a) wtefem

() e

fe) TS

(d) famrs




30, In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
eingle largest party?
ja) Punjab and Sind
(&) Assam and North-West Frontier

Province
fc Punjab and Assam
fdl Assam and Madras

31. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2 introduced a women's detachment
named after the Rani of Jhansi

Which of the statements given above
isfare correct?

fal 1 only

ib) 2 only

fet Both 1 and 2
fed] Neither 1 nor 2

32. Which one of the following pairs denoting
various forms of Bhakti® is not correctly
metched?

fa) Saguna  : Behef in OGods with
attributes

{bj Nirguna : Beliel in Gods without
attributes

fe) Alvars Believed in devotion of
Shakti

fd] Nayvanars ; Believed in devotion of
Shiva

JNBY-D-GNL/S9A

13

33. Which twoe rivers flow in the region

between Oulbarga and Vijayanagara
Hampi?

fa] Narmada and Godavari
(4 Mahanadi and Godavari
fe) Kaveri and Periyar

fd) Krishna and Tungabhacdra

34. Which of the following is the only

paramilitary force with a dual control
structure?

fa) Central Reserve Police Force
{b) Assam Rifles
fe) Indo-Tibetan Border Police

(dl  Central Indusirial Security Force

35. Which one of the following is an ethnic

community of Assam?
fa) Bhil

fb) Gond

fc)  Ahom

fed) Adi

36. The Chevrons is the name of the cricket

team of which one of the following
countries?

(@) Australia

b} The Metherlands
fe) Ireland

fd} Zimbabwe

| B.T.O.




37. T 4 v e A W oawn ¥ Peihe 4

# firn wite =am @ g e
fa) T TEE FEH

fb) AEEnts W T T

o) g A T TR
) T TR FEE

38. ¥ H R, o 2022 § Bfew fom § TEm

qUERT 1 W et BF
fa) PR TR

(b} A Uho AT
fe) =TI tEEThR

(d) "E Faftm

39, ¥fa M =@ e % fow wiftrdt & wfived =

(reflex arc) fawfm 2@ &) Pofafes 4 4
- wgEw, shed 9m w6 wdE s B
Fawfra s 27

fa) W — ) T — e & =
— Wi — W T — W

) T — TR g — e — e
§ 0 = — i A —

fe) T — e =g — e A R A

— Fad A — FEE

fd) T — Wk A — wfEs — W
= — F

40, agifes 9 #g Wgiss IR F fim

Frfefaa § @ F=-m wifEd 27

faj MaCl

B KCl

fc) FEETE

(d) FEER
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42. s F, “mw  Fedes

41, Faefa FwEE § RNA R e dm A

fa) T i

lintercalary
meristemn| WA F9 9 fEm wa b

fa} T
B T % md

fe) woigE
) Wirg-wm

43. el § =\ & =g Wen § fan wwem T

wER H AE waw g 8 Peffen § 3
- WEEH S Wi ST oW
w7

fa) EHEFE (Tracheid)

(B) ATEH (Vessel)

fe} WG A (Xylem parenchyma)

fci} =TEET FE (Xylem fibre)



37. Cheetahs, brought from Mamibia, were 41, In plant cells, RNA is present in
introduced in India to which one of
the Tollowing National Parks?

fa} Kaziranga Natiomal Park

fal cytoplasm only

fh} Keoladeo Ghana National Park i) nuclet and cytoplasm only
fe) Keibul Lamjao National Park

fel nuclei, cytoplasm, mitochondria,
fef) Kuno National Park et dnd  endpibasiic

38. Who among the following 15 not a reticulum

recipient of the Nobel Prize in Physics
in 20227 fd} nuclei, cytoplasm, mitochondna,
{6} Alain Aspect chloroplast and ribosomes

fgl John F. Clauser
fel  Klaus Hasselmann

42, In grasses, intercalary meristem s
idl Anton Zeilinger

usually located at

39. Reflex arcs are evolved in animals for

quick and efficient responses. Which fa} root ©p
one of the following sequences correctly
represents a reflex arc? {5 lateral sides of stem
[a] Receptor—Sensory neuron—REelay
neuron in spinal  cord—Brain— fc) base of leaves
Motor neuron—Effector
B} Receptor—Sensory neuron—RBrain fdf shoot tip

—Relay neuaron in spinal cord
—Muator neuron—Efector

(el Rﬂtpmr‘,_uﬂmr Muﬂl n—i Relay 43. Xylem is a type of complex tissue in
::::::_Em:mm:ﬂ il plants for upward conduction of water.
Which one of the following xylem tissues
] Receptor—Motor  neuron—Brain consists of living cellg?
=Sensory neuron—Effector

40. Which one of the following 18 essential o T
for thyroid gland to make thyroxin?
fa)  MaCl B Vessel
kg fc} Xylem parenchyma
fcj Cholesterol
fe) Todine {d) Xylem fibre
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44, 11 © 22 Q @ 33 Q wig @ 9
ufsius o4 wafam 1 @ g Wi
s T AT

fa) &6 Q
fb) 22 0
feg 12 Q
fd} 64

45, v o faem-wd 7 e fagem aw
fred live wire) 3h %8 3l @0 (black
neutral wire) F 4N rms. EvEm
(potential difference) e gm 87

fal 160 V
ib) 220 ¥
fe} 300 V

fd} 410 ¥

H+mﬁlﬂiﬂﬂﬂq§ﬁwmmﬁmm
Fmarfia # A7

fa) e e o fraes
(b) TR i amivdE T
fe) HaMdm ez s vem
fd) e deEa o fre

47. wER i g
fm) A sl off s A R
(b arg A wEm s s el e R
fe) =R A A s A B
fd) =rg & 9 s ¥l 8

JNBY-D-GNL/S9A

48. 12 m/s 6 9@ A i W W U ¥ E 9=

T W T WE E 6 om e W e dm R
¥E AT F W W v F w2 s T omm
¥ ¥ T F w wn oo W ol g
Teroeit BE

fa} 12 m

) 24 m

fc) 36 m

fdj 48 m

490, HE-WEE TR & Aimes W aEbs

Aqza v BY

fa} WIEEW THEEA FREZ SR AR
A W 9

(b} wfemm wmi odn wewiE w=m W
T

(c} FTR TR dn weEfte wm W
W

(d) wifm FEnEE W wETE A= W
L1

80, Frfeian sua w FEn fifen -

wifzn Anfew sa & dre F) 7 0 T

1. [HqO" | ¥ & A /A (volume) §
i w2

2. Witem = & v offt-oft feen =i

3. wE W sy ot - e i

T § A W R e e
fay 1,233

fb) a1 3w 2

e} FaA 3

fd) ER 2 w3




44. Three resistors of resistances 11 £ 22 &
and 33 i1 are connected in parallel
Their eguivalent resistance is equal fo

faj &6 Q
b 22 Q
el 12 @
d 60
45, The r.m.s. potential difference between

the red live wire and black neutral wire
in Indian domestic electric supply 13

fa) 160 V
b 220 V
fe) 300 V

{d) 410V

46. The hydrogen bomb and the uranium
bomb are based, respectively on

fa} nuclear fusion and fission

by fission and thermonuckear fusion
fcj peothermal fission and fusion

fd} geothermal fusion and fission

47, Sound and light waves are

(a) respectively longitudinal and
transverae in air

jb] respectively Iransverse and
longitudinal in air

fc] both longitudinal in air

fd) both transverse in air
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48. A car moving with a speed of 12 m/a

is subjected to brakes which produces
a deceleration of 6 m;ui. The car takes
2% to stop after the application af
brakes. What is the distance covered
by the car after the application of
brakes?

fal 12 m
(bl 24 m
fcl 36 m
fd) 48 m

49, What i{s the chemical composition of

a soda-acid type fire extinguisher?

fa) Solution of sodium hydrogen
carbonate and salforic acid

b - Solution of sodium carbonate and
sulfurie acid

fc) Sclution of carbon dioxide and
sulfuric acid

fd] Solution of sodium chloride and
sulfuric acid

§50. Consider the following statements :

While diluting concentrated nitric acid
solution

1. the concentration of [H30"] lons/
valume increases

2. water must be added slowly o
concentrated acid

3. acid must be added slowly to water

Which of the statements given above
is/are correct?

o) 1, 2 and 3
{b} 1 and 2 only

fc) 3 omly
fdl 2 and 3 only

|PT.O.




51. fm o el % fom ol = W En P 84, Fe,0, 9 ofifem % oy sfufEn $ fm

& 9\ b7 Frifefian & 3 F9-8 Fu9 98 &7
fa) FE < i T W < e i A < 1. % ueig wiuE % A
- 2, IR T W A % R
) T wifs Wi < 6 < = < g ) ¥
™ 3. Tgfifem um Sieiem T F g d
FH A R
& ﬂmﬁm{mqm{m% 4. Wb 1 W w ofm Fe sl Al
=4 1
fd) M % W < FH < T < e as
i & fam 5= = oW W wE T YR
fa) 132

82. T yiEm ¥ fom Frofefim 8 8 SR
Wl i B

M 133
fa) 8 HERTEER ) wa wi = R
e 234
b UefaFam, e s Adfmm S
vigE! ) TEEEE e W o B 134
ot = TitEm v w3 el
sfedta e i e AR
(d) =8 wEEE T0m § ugE T b ss. ot 3 2 fisl @) e dn (Stewart

lsland), 9 3% S (Bay of Plenty) 3
B @ (Hawlke Bay) % W90 % 9t 3 wamn
53. Mymefn dm F=El TN fvellow  sooty Tt 3 75 30 =y fen?
flame) & e e ¥ 0F 00 ¥

fa) FTEAH TSI WS A R
(bl = = b fb) sfezfern
fe) R F s A e R

fd) TEEA o e B oagem e
Bt B (d) W

fa) FTE

fc} =ik
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81. Which one of the following ia the correct
order of pH for the given substances?

jal Coffee < Lemon juice < Milk of
magnesia < Blood

b Milk of magnesia < Blood = Coffee
< Lemon juice

fe} Lemon juice < Blood < Coffee < Milk
of magnesia

{d] Lemon juice < Coffee < Blood < Milk
of magnesia

52. Which one of the following is moif true
for anodizing process?

faj It makes aluminium corrosion
resiztant.

fb] Metals like aluminium, titanium
and magnezinm can be anodized.

fej Clean aluminium arbicle is the
anode and oxygen gas is evolved at
the cathode.

fdj It is used in aircraft industry,

53. Naphthalene bums with a vellow sooty

flame. This is because

fa}] carbon to hydrogen ratio is Jow

(b} there is incomplete combustion

fe} there is excess supply of air

fdl of presence of impurities of

nitrogen and sulfur

JNBEY-D-GNL/B9A
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54. Which of the following statements are
true for the reaction of Fe,05 with
aluminium?®

I. It iz known &s the ‘thermite
reaction’.

2, The heat evolved is wused for
welding purpose.

3. Aluminium metal acia as an
oxidizing agent.

4, Molten Fe and Al are formed at the
end of the reaction.

Select the correct answer using the code
given below.

fa} . 1 and 2
b 1 and 3
fc) 2 and 4

fd) 1 and 4

85. Vicky told his friends about his wisit
to Stewart Island, Bay of Plenty and
Hawke Bay., Which country did Vicky
vigit?
fa) Canada
fb) Australia
fol New Zealand

(d) Ireland

[ P.T.O.




56. e g % o T fan fmm we w
yn 0 o e = oe b ww wm s

fa) R TN, gEE b, e
fb) =T T, IR e, FE9 WA
fc) = e, T A, T = AEE

(d) # T, gan # e, i e

s7. af Wit uiem & @ A s A 2, W
¥ 72 W fim w1 7 o = am?

fa} TEVETR, FER, MUY, T2
(b}  FEPTER, W, G, WA
fe) WA, TETHRE, M7, T2

fd] FE, TPERE, 9291, 9T

s58. Fefafms ¥ 1 & = =1 Iw-—fim fTm @
Haiiew famm B

fa] WREE
(b} FETN
fe)  wfiEm

(d IR
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59, W1 ® gE-1 % ww g fifm s

i % R T o w T
g
-1 HE-11
(o) ()
A Fru smivf frm 1. 29 ¥
B. i am fEe 2. 22 wim
C. e w= fam 3. 2 wal
D. siwid o gk fram 4. 20 o
T
la) A B D
2 4 I 8
M A B C D
2 1 4 3
& B E b
2 1 4 3
id] A B D
2 4 1 8

60. T Twm 3w 94 20202021 % fm
wEfim weeh defew s (PGI A,
Trafefan 4 & fEa o fen -2 w e
it vt & i Tt 27
fa) FTE
(b) T

fe) i e e fag
i) =g




56. Manav is planning to visit all UNESCO
World Heritage Sites in Delhi. He will be
Visiting

fgj Red Fort, Qutab Minar, Jama
Masijid

& Red Fort, India Gate, Qutab Minar

fel  Red Fort, Qutab Minar, Humayun
Tomb

fd}] Red Fort, Homayun Temb, Indis
Gate

57. What will be the correct sequence of
cities on the bank of rver Ganga if

someones moves from west to east?

fa) Prayagraj, Kanpur, Bhagalpur,
Patria

& Prayagraj, Kanpur, Patna,
Bhagalpur

feJ Kanpur, Prayvagraj, Bhagalpur,
Patna

fd] Kanpur, Pravagraj, Patna,
Bhagalpur

BB. Which one among the following States
has the longest extension in north-
solth direction?
fa) Jharkhand
fb) Telangana
fe} Odisha

{d] Chhattisgarh
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89, Match List=] with List-1l and select the
correct answer using the code gmven

below the Lisis :
Ligt-[ List-{f
(Dray) (Date)
A. World Wetlnnds Day 1. 29 July
B. Intermational Tiger Day 2. 22 April
C. World Water Day 3. 2 Pebruary
D. International Mother 4, 22 March
Earth Day
Code :
m A B C D
3 4 1 2
M A B © D
3 i 4 2
el A B C o
2 1 4 3
) A B C D
2 4 1 3

60. Which one of the following States/UTs
is mot among the top five in the
Performance Grading Index [(PGI),
published by the Ministry of Education
for the vear 2020-20217

fa) Kerala
(b} Punjab

fef NCT of Delhi
e} Chandigarh

[ T.0.




61. Ffafas s w faar $ifm s widd 63. Frafefian 4 4 F-m/9R-% =a7 w §/87

TESTY, ¢ 1 st 6 mo oo e A
(Tomb of Sand) Fwffa 39 gom
o wfag e sfiash, A ai B # ar s Al o w9 R Rl v w &
FA Al sy g #1902 F 39 Terel Tl g R
vt grEE S fkw oo af 1998 @ 2. ¥ afF f BN A osEfm we
o 2001 7% FED F Ay wee v & el smhim g g e
T & sy & w9 d o fn sl i Fagy vy |
& 3% FgEy AT IEE et AE
=7 sl 7=y apw mﬁmﬁn#mﬁr: 93 fnm = W\ w = e i
fie mam ) fa) F=w 1
) = 2
fo) SA=EATEN e} 13w 2 3
fd) A1 afmada
(b} = A
64, Mg WE wam W s Gem, W fE
fvefr ¥t wvm (bilateral
AL military-to-military exercize] ®, 3l e
# & v i Ffefam 4 9 feg 3w 3 fom
fd) S TS wdl & i fr
fa) =M
fby) STV
fc} A
62. UN 2023 = W& &  swiwa-wa fd) VTR

fvenue) Fefafim & 3 S-w &7
65. HETEhiT T & o wrwm g Fefeden 4 @
e Tor W T o a3

TIEFTEA, Fo
= ] fa) N, gfem il W e = 9w
(b} Tt w sfieE woRE (subsidy) w=@
b} =aEE ==
fo) =wn 3 Wl W oW osnE w d Al
fe) &= fai Al
(d) wmie v Bl s (crRR) @ =5
i) 7% et FE
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61. Consider the following statements and
ientifly the actress |

She 15 a renowned film actress, director
and producer, and an aocomplished
Indion cdlassical dancer. She was
corferred the Padma Shri in 1992 and
has served as the Head of Central Board
for Film Certification from 1998 fo 2001,
In recognition to her exemplary Hfefime
confribution o Indian Cinema, she
was honoured with the prestigious
Dadosahelh Phallke Award

fal Vyjayanthimala

b Waheeda Rehman

fel Mala Sinha

{di Asha Parckh

62. Which one of the following is the venue
of the UN 2023 Water Conference?

fal Washington, DC

{b New York

fe)  Ban Diego

fd} New Delhi

JNBY-D-GNL/S9A

63. Which of the following statements isfare

chrrect?

1. Tomb of Sand, written by Geetanjali
Shree, is the first book originally
written in any Indian language to
win the International Booker Prize.

2. Tomb of Sond is the first nowvel
translated from Hindi to be given
the Intermnational Booker Prize.

Select the correct answer using the code
given below.

fal 1 only

fb) 2 enly

fe Both 1 and 2
fdl MNeither | nor 2

64. The eighth edition of the Exercise Garuda

Shakti, a bilateral military-to-military
exercige, was conducted recently
between the special forces of India and

fa) Japan

b} Indonesia
fe] Bhutan
fdi Myanmar

65, Which one of the following is 8 measure

that can be used by the Government
for combatting inflation?

fal Increasing the non-planned
expenditure on defence, police, etc.

bl Providing more subsidies on
exports

fe]  Increasing the rate of interest on
savings and fixed deposits

fd] Reduction in the cash reserve
ratio {CRR)

| P.T.0.




66. T Fmn w0 A wiw fvee w5 s 1 69, F=fafy 4 3 S9-m/FR-8, worEh mme
o gra (PMSSY) w1/ s 3/

fa) ¥ (Deflation)

1, FEE e s A9l f avesem
_ 8 st e Fg wn
(b] TR 59 (Stagflation) 2. F e FE s adsd Fe
F o wvdvd wite e
fe} AR (Devaluation)
3. W A AT s e ¥
fd) #E (Recession) et | g e
4 i m 5= W wEE = A I gh)
67. TR wE-sEE T qEEE  (MPN) # fa) FE@ 1 a3
Frfiafan 4 8 w-w wds aflfn 4
e Seee b FaEw 2 g
fb) W fe) e 1
fc) 3mg wwiam fd) 1,233
fe) ufh =i W
70. T A feu uwifE W 3 o wRn &
w9 A wwdm i wlis wown e sl A
68. il swa fadm T @ utn | ofed & W T T T W W e
e B w8
T e
fa) T W .

#) ¥ eu— ) Elo o MiTo ST

fe) G Wi

fd) IR ST
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fe) o o T}

fd) HETEETE JEE



66. The sustained decrease in the general
price level is called as

ja}  deflation

B stagfation

fe)  devaluation

fd] recession

67. Which one of the following indicators
% inciuded in the National
Multidimensional Poverty Index (MPI}?

fa Years of schooling

fb)  Literacy rats

fo)  Life expectancy

{d}] Per capita inoome

68, The unemployment that occurs due to

changes in the technology or in the
demand for particular products ia called

fa} frictional unemployment

(b structural unemployment

fel  cyclical unemplovment

fdl disguised unemplovment

JNBY-D-GNL/59A

69. Which of the following is/are the

objective /objectives of the Pradhan
Mantri Swasthva Suraksha Yojana
(PMSSY]?

1. Correcting regional imbalances in
the availability of tertiary health

CATE BETVICES

2. Providing universal access to
public  health  services and
universal immunization

3. Augmenting facilitics for quality
medical education in the country

Select the correct answer uging the code
given below,

fa) 1 and 3 only
B 2 and 3 anly

fe) 1 only

fdl 1,2 and 3

T70. Who among the following political leaders

suggested the dissolution of the Indian
Mational Congress as a political
organization and itz replacement by a
Lok Sevak Sangh?

fa} Vallabhbhai Patel
4 Dr, B. E. Ambedkar
fei M. K. Gandhi

fdl Jawaharlal Nehru

| PT.O.




71 W, #Q% T W fem § afeen g
[all-woman contingent) %) ¥ T3 wen
fou & wren 2w ¥ m fom fem 3w o6
vlrfem fem mn?
faj TR
b HEA
fe) o

fd) FrEE

72, FefaiEn & & F9-m, SWAYAM FdE0 5
Tewan =i 27

fa) Hifed ==

fb) & SAEER

fe) TEM @ w3 % fom sEmA it
WA

() T # & ¥m A v wenl fad
TEaE/ R fen wasa b

73. Fefefen & & F9-w Rwym/wiem
e & i e A7

fa) =3 FT

{b) T fEE

fe) T mitEEm TaEfE B T
fd) WY, R iR e S
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74, fieriafn & 4 ) gm % dfiwm B ofa

AN ® wfm W e m d oWl
HENERn Titeg o wen w9 W R
w=E T T R, e smghE it @
T stqgiem o 2 1

fa Wt T #1 TR
(b} ¥R % TE

fo)  FH-TreY i,

id) wmE e

75. f sateE aig 8, feffe 3 2 9-a

T4 (69 -5 wifem §7

fa) FREE, I Wew, wherm, g, sy
i iR

(b wfEn, Jum, feaew v, o9sE T
T T EE T

fc) TW WM, TOEE, oA, TET T
TR

(d) ImFEE, W wEW, fores w3w, dew
3 wframn

76. TAM WEH W wfewiEm dym Hoawon

[notion of kinship) FfafEn 4 @ fees
ArETH ¥ wETg w8 uaiie 47

fa) TS § W TEEE fdentification)
(b) Wi weaE = sEER

fc) B W (inscriptional
panegyrics)

fd) Tl alw ‘ﬁﬁ’ﬁ?ﬂ [sculpture)



T1. India is the frst country in the workd

to deploy an all-woman contingent o
a UN Peacekeeping Mission, In which
country did this mission operate?

faj Liberia

b Sudan

e} Burmndi

(d) Croatia

T2. Which one among the following is not

6 part of the SWAYAM programme?
fal Video lectures
fb] Classroom lectures

fel Online discussion forum  for
cleanng doubis

fd] Specially prepared material that
can be downloaded /printed

73. Which one among the following

Departments/Authorities is not under
the Ministry of Home Affairs?

fa] The Department of States

fb) The Department of Official
Language

fc} The National Auwthority Chemical
Weapons Convention

fdl The Department of Jammun,
Kashmir and Ladakh Affairs

JNBY-D-GNL/S9A

T4. Who among the following s glven

discretionary powers under the Fifth
Schedule of the Constitution of India
to st up a Tribes Advisory Council in
a State which has Scheduled Tribes but
not Scheduled Areas?

fa) The Governor of the concerned
State

{b} The President of India
fe} The Inter-State Counecil

{d) The Parliament of India

76. Which of the following States/UTs are

included in the Northern fonal Council?

faj Uttarakhand, Uttar Pradesh,
Haryvana, FPunjab, Jammu and
Kashmir

(b Haryana, Punjab, Himnachal
Pradesh, Rajasthan and NCT of
Dielhi

fe Uttar  Pradesh, Uttarakhand,
Punjaby, Harvana and Rajasthan

{d) Uttarakhand, Uttar  Pradesh,
Himachal Pradesh, Punjab and
Haryana

T6. The notion of kinship projected by

the Kushana ralers is best evidenced
through which of the following?

fa) Their identification with deities
fie) Grants to religious institutions
e} Inscriptional panegyrics

fdl Coins and sculpture

|PT.O.




77. WHER WA A Fefoien § 8 B Al S =

W W

fa) wE wigwnd

b} =g § 3 onaEl (elder nuns)
fe) ool wg (srarus) # afas it
fd) o A & R Wi

78, Wi afe ¥Ewm weed & fen wew 2 1014

A gemerne § & wfefy w67
fy o TR AT
(b) T
fc) TEe Wo TR
) = T

70. WM HEw-T0E g 0 oof fofEfe § @

s g 1l 7
fa) T W
{b) T HiG

jc) =emfa  wwm  (Convention  of
Wadgaon)

el) et wfa

80. 0 TEE (battle) 1 AW TARY, fawd smEwEn

oo 1741 § g5 9 e Rea
fa) O ) A g

() Frewam 6

fe) fereg #r =T

fel) STl (Changanassery) $1 &%
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81. Frafeian @ @ Tem fasie @ ®m sl #

A F Y 3 UF AR TiER F
e Wl overlord)  fsg wm 6

fa) TN TAER (Rampa Rebellion),
1879-1880

(b) TEn e (Gudem Uprising), 1886

fej TN f4EE  (Rampa  Rebellion),
1922-1924

fd) HETE W e (Telangana Armed
Struggle), 19461951

82. Tw ¥w A FIFA 98 %9 (7o) v=9 =i 9w

E G
fa) TR
(b wE
fe} T
fel)

83. 7 # IR THeE AW, B s ala

(City of Joy) T T B

fm) T Wifcw (Larry Collins)

fb) EfiE WS (Dominique Lapierre)
fe) =T Frofer (Rudyard Kipling)
fcd) WP 780 (Mark Tully)

8. ¥ ¥ TR wRm  deem i

[Entreprensurial  Vislon category) o
HgF TE T FriEw ol 2022 Wi
H#F 7 74 YN (Champions of the
Earth Award) 8 efm fiva o &7

fa) FEl 9E

fb) AT R

fe) it 2= o

fcl) TR TR




T9. The First

T7. Who among the following were referred

t¢ as the Thers' in ancient India?
fa) Respected women
il Elder nuns in Buddhism

fed Women  demed
siatus

the Bhikkhuni

fdl Women expelled from the Buddhist
Sangha

T8. Which member of the Servants of India

Society founded the Seva Samiti at
Allababad in 19147

fa) Shr Ram Bajpai
fly} Hriday Math Eunzru
fef 8. G. Vaze

{d] Srinivas Shastri

Anglo-Maratha War was
conchoded by which oane of  the
following?

fal The Treaty of Surat
i The Treaty of Purandar
fe)  The Convention of Wadgaon

{d] The Treaty of Salbai

BO. Mame the battle in which the Travancore

King defeated the Dutch in 1741,
fiy The Battle of Poarto Novo

iy The Battle of Colachel

fe!  The Battle of Pollilore

fd} The Battle of Changanassery
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B1. In which one of the [bllowing revolts

did the Hova and Honda tribal chicfs
rise against the local overlord from
a Mansabdar family?

fa) The Rampa Rebellion, 1879-1880
fb) The Cudem Uprising, 1B8G6
fo/ The Rampa Rebellion, 1922-1024

fdl The Telangana Armed Struggle,
1946-1951

83. Which country won the FIFA World Cup

[Men) for maximum number of tmes?
fa) Argentina

(b} Brazil

foi  France

fd} Spain

B3. Who among the following is the author of

the famous novel, City of Joy ?
fa) Larry Collins

fb) Dominigue Lapierre

fo! Rudyard Kipling

{d) Mark Tully

B4. Who among the following is honoured

with the UN Environment Programme's
2022 Champions of the Earth Award in
the Entréprencurial Vision categorv?

fa} Ela Bhatt

{b} Amit Dasgupta

fel  Purmima Devi Barman
{d] Veanshika Parmar

[PT.0.




85, Wi B G20 wegm B frm-aw Sl

TP W U -0 AT W
wwl & ot &7

fa) HETT
(b) wET-ufIy
fe) T

fa) gl

86. 7 g& N HEwan-od] sfiiE A

T -STe AT wge e sterm 16l
wem fawan, 2022 § A0 W WS A
[Nepal Army Battle School), Hregd #
Amitam fem oM g W W T R

¥7
fap e
iy T ol

e} T2 AW

G <R

87, i e e W (GMT) R 10:00 a.m. B,

7 90" E TEAC T F1 5HG B
fa) 5:00 am.
b} 4:00 am.
fel 300 p.om.

fd]l 400 p.m.
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88, fFefafim 4 & fem me-wpe W Hflm 10 (gas

planets) %9 W@ ¥, WiE T pEE: w6
oh, 7@ A e A =

fa} W, greafs, JoEE, A
(b) weEEf, g, ewE, wi
fe) Wi, e, gEen, e

fd) w=gE, WA, WS, T

Bo. el mm & wen 6 Frefafem fasomed w

TaIR e

1. @ wand =g, e s i & e
ST | A R

2. wEmE 4 dem, sl e s
A i s § R

3. T HRE F T 9 F AN W A
i writa R = R

# 7 falmms % wm w 9w W owEn
JEET |

fa) HETE [Alluvial)
{b) TETER (Laterite)

fel I (Arid)

(dj e [Black)




B85, The theme of Indias G20 Presidency
Vasudhaiva Kutumbakam' or ‘Opne
Earth-One Family-One Puture' is drawn
from the
(@} Maha Purana
bl  Maha Upanishad
el Rig Veda
{d) Semriti

BE. The 16th edition of Indo-NMepal annual
joint training exercise in jungle warfare
and counterterrorism - operations was
held in December 2022 at Nepal Army

Battle School, Saljhandi. What is the
name of this exercise?

fa) Sampriti
fla)  Mitra Shakti
fc} Yudh Abhyas
fd] SBurya Kiran
8T, If it is 10:00 a.m, at Greenwich Mean
Time [GMT), then what will be the time
at 90" E longitude?
fa) 5:00 a.m.
b 400 a.m.
fe) 3:00 p.m,

fdf  4:00 p.m.

JNBY-D-GNL/G9A a1

BR. Which of the following groups of planets

is termed as ‘gas planets’ as they are
compesed primarily of lghter ices,
liguids and gascs?

fa) Mars, Jupiter, Neptune, Uranus
) Jupiter, Uranus, Neptune, Saturn
fo}  Saturm, Mars, Jupiter, Neptune

fd} Heptune, Saturn, Mars, Uranus

89. Consider the following characteristics of

a aoil type :

1. These soils consist of  verious
proportions of sand, silt and clay.

2. These ‘soils contain adeguate

proportions of potash, phosphoric
acid and lime.

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

fal  Alluvial

(b} Laterite

fel  Arid

id} Black

[ P.T.0.




90. Tl ol m e fifvg oy 92 Reomw

T w W w3 g

1. fish o fgm ez 9 W, wREn W
wEhE W e W oTEm
ear ¥ o T s By

2. gH T S 3 5 W d mnen &
f W TR e owm B, @ TEme A
mﬁnt.ﬁ'ﬂﬁm (spina) W
W4 (tarns) Em ¥, e w1 I
¥

o) T 1 af e o wh il B
fb) w2 wh ke w1 wd o b

fe) El e wd B oo wem 2, w1 F
AT T R

i MR ifFgIm L, s
ST TE W

91, Tay 7 Wfmm = FHran =l 7 B2

fa) TR, w9 sw wwdn, fmEw wm,
EEIL

by erErE, W i iR, 9aW, giEmm

fe) TR, 9] ¥ FWE, dae, wiEm,
T

fd) wem, oy sl wwin, feoem wEm,
o, wiEn, T
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92. vt % ugFEfgRAl (SGI) ¥ wew §

ﬂnﬁhﬁﬂﬁﬂqmwﬂlwﬂ!?

fa) SG1, TR % TE A weEEn W
i

(b} SGI, ¥ T fides R AfeEd da
B

fe) S01W 7 % wifdwie T2 )

(d) whEwEw & Fgis el om sc =
Fopes foem wnen B

93, Fr=fafian 8 4 fa oftf & o= o & wea

it e B

fa) e v wfify

fb) FEER] TuER-HaEM A
fc) mTEE |

fd) i =it i i sl &
weamm -wae) wffa

o4, wia & gl ¥ Pai=Es & e § Foofaies §

§ a1 TR T R

fa) W FEA o, mEi FEiew w8 W
ar = #m

b TEafn =1 Fafes g ol o g Ew
TR-iE 6 fAuR-ans & FEie
e g B e b

o) e o @ P o % P
we wive 99 B b

(d) TEW i WA EW s
wfafafirm wgfa =1 oem fam =T 2




90. Consider the following statements and
identify the correct answer using the
code given below :

1. In a thermal power station, fucls
such as oil, coal or natural gas are
used to generate electricity,

2. Fuels are burned to heat water and
turn it into steam, which goes
through a turbine, which spins and
turms, generating electricity.

Code *

fa) Statement 1 is. ocormect but
statement 2 is not cormect

(b Statement 2 iz correct but
gtatement 1 is not correct

fe] Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does noi explain
atatement 1

91. Indus river basin 18 extended up to

fa) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

(b Ladakh, Jammu and Kashmir,
Punjab, Haryana

{0 Ladakh, Jammu and Kashmir,
Punjab, Harvena, Rajasthan

fdl Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab,
Harvana, Rajasthan
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2. Which one of the following statements
about the Solicitor General of India
[(8GI) is mot correct?

fa}

&)

el

(d)

The SGI ia the Government’s chiel
legal advisor.

The 5G] ia the secondary law officer
of the country,

The post of the BSGI s
a constitutional post.

The SGlI is appointed by the
Appointments Committee of the
Cahbinet.

93. Which cne of the following commiltees
doss not have members from the
Rajva Sabha?

fa)
ib)

fel
i)

The Public Accounita Committes

The Commities an Public
Undertakings

The Estimates Committes

The Committee oni the Welfare of
Scheduled Castes and Scheduled
Tribea

94. Which one of the following statements
about the election of the President of
India s met correct?

(a}

firf

fdl

A Union Minister shall not be
eligible for election as the
President.

The President is elected by the
elected members of the Parliament
and the Legislative Assemblics of
SBtates and Union Territores.

The Electoral College does not
include eslected members of the
Legislative Councils.

The system of proportional
representation by means of single
transferable vote is followed,

| P.T.O.




95, e wfm, 1955 e o =W oak

w1 Tt & Fwion § ki 37
fa) 26 %L, 1950
(b} 26 FEW, 1949
e} 15 WWE, 1947
(] 14 3FE, 1947

96. A (T ¥m gm Pl e a-amEd

TR g (MPY) ¥ srgEw, R afEn
{househald) 1 =Fm ma = B, oft

1. 9WER (houschold) F T W #ge &t
TEEH WF-UEA (undernourished)
& & f =tk

2, 15 =d 3w 40 =0 F @9 F g A
Feedt wften vy =0 v 2= e
[body mass index] 185 kg/m? A
=H R

H i gz W v = wdh I g
fa) - F ]

b} 2

i) 13w ad

fdf AM 1 smad2

97. ‘TR (Rayagajakesari) 3

BT (Dayvagajakesari) 6 3ot
Fr=fafian o @ fF Tem 3 gag 47

fa) A
) T
o) T
fdf TEEZ
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98. HiEl U1 sl el CE # uE T T a

et % B ¥ fom seafaEm B o 9im =1
% WE w win fewm F wmm ow aw
G

fa) TN (Ennayiram)

(b) I (Uttaramerur)

fe) THEEE (Siyyamangalam)

fd) TFEfrEmTEd (Kudumiyamalai)

99, el et ¥ wma & wed A, ‘=

{Dastak)’ ¥ @7
fa) EET

(b) W T
fe) =EEEmE i

(e} W (textiles) T

100. Fefafen § & 9w, g T2 wa 2

Hag

faj =5 FEEA

b Ix

fc} el (officials) W

fd) T HUEn



95. The Citizenship Act, 1955 deals with the
determination of citizenship on or after

fa) 26th January, 1950
fb) 26th November, 1949
fe}  15th August, 1947

idl 14th August, 1947

896. According to the National Multi-
dimensional Poverty Index [MPI)
constructed by the NITI Aaveg,
a household is considered deprived if

1. & single member of the household
i identified as under-nourished

4. the body mass index of 8 woman
mermber, betiween 15 years
and 49 vears of age, is below
185 kg/m?

Select the correct answer using the code
given below.

fa) 1 only
(b} 2 only
fe} Both | and 2

fd} MNeither 1 nor 2

97. The titles of ‘Rayagajakesari’ and
‘Dayagajakesari' were associated with
which one of the following dynasties?

fa} Kakativa
(b} Viayanagara
fc} Gajapati
d] Rashirakuta
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08. Name the location of the musical

99,

inscription containing groups of musical
notes arranged for the bensfit of his
pupils by a king in the seventh or eighth
century CE.

fal Ennayiram

fb} Uttaramerur

In the comtext of eighteenth century
India, what was Dastak™

je} Signature
& Land document
fel  Trade permit

fd} Tax on textiles

100. Which one of the following was primarily

associated with Dadni’ system?

fal Textile production

bl Warfare

fc)] Payment to olficials

fdl Revenue collection

| P.T.O.




101. FIHEE FEE mm % W A el 103. T % ww wEn # Felale e .

w0 e i = #itfm -

1. e oftm 7 & & w fEm 1. 3 wEe @ A dR R

2. FAWER WY & w9 ueeh in dwd 2. uw fm % mEwE WER k&) afen,
A CE F = % 8 awl ) tepri ol Feweft S /s w0 W R

3. W W W AR A R Bl 3. A = perind % wER A, T

i - (anvil tops)’ B9 R R
I & A FA-H FEa - i & e o A SR ) TE
(@) =1 32 i
fb) WE= 2 ¥l 3 fa) T FE G (Stratocumulus)
fe) FEA 1 HR 3
[i] ﬁqﬂﬂhfﬂumuhnmm&ﬂ
fd) 1,233

fo) o F=EE ¥8 (Cirrocumulus)

102. w ¥ an i fafaiss & 8 $9-8 w06 (@) T T (Nimbostratus)

|\, wwEngE # WEEm  (strength] W
s feEd qEREE (Volcanic

Explosive Index) & T = &1 104, 1 witm T A = o § e e
2. wEee #n Reirdw, s G THR E2 F 9 TR, TR, W A H
[volcanic activity) ® i T 4 Fars B wen ww O wEn §) el
3, vamanpEt fd s, mel ol T e B fofafian 8 3 <9 wifes 39w
# 7 g2l meR B = wh b i
14 fam 2w Wl T R fal T4 (Pie chart)
¥ 1 3 2
s l fb) TEE A% (Scatter graph)
(b e 2 sl a
o Fmiama le) €2 W12 (Bar chart)
fd) 1,233 () TFmf orE (Triangular graph)
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101. Consider the following statements about

Kanaganahalll archaeological site :

1. It is situated on the bank of Bhima
river.

2. The remains of the Kanaganahalli
Stupa can be dated between
Ist and 3rd centurics CE.

3. Emperor Ashoka's image wag found
at the aite,

Which of the statements given above are
correct?

fa) 1 and 2 only
by 2 and 3 only
fej 1 and 3 only

fd} 1,2 and 3

102. Which of the following statements about

volcanoes are correct?

1. The strength of a volcano
is measured by the Volcanic

Exploaive Indax.

2, Ieeland and Philippines were
created by volcanie activity,

3. Volcanic soils are rch, decp
and fertile and allow intensive
agriculiure to take place.

Select the correct answer using the code
given below.

fal 1 and 2 only
b} 2 and 3 only
fe) 1 and 3 only
{d 1,2 and 3

JNBY-D-GNL/S9A
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103. Consider the following characteristics of

a cloud twype :
1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil topa’

Identify the type of cloud on the basis
of the given characteristics.

fa)  Stratocumulus

b Cumulonimbus

fel  Cirrecumulus

fdl HNimbostratus

104. Meena wants to show diagrammatically

how two sets of data;, namely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

fa) Pie chart

jbl Bcatter graph

fe} Bar chart

{d) Triangular graph
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105, Fefefan vl owdl % & Feod ged o)

-t #7
fa) T
fb) LR
fo) TERIR
fd) g wm

106. Fefofem =t 7 8 #R-m /-8 wh 187

|, T s e R
2, #FEETE A UE w0 ue B

A4 fam o g W v = w3 af
fa) e 1

b 2

fe) 1 3 2 @t

fd adm1smade

107. 78 2011 =1 2021 ¥ 49 e ¥ s

53 % gfa g b1 maf, wh sEfa B deow
v % fien =i A = of gl #7

fa) #f w9R w1 (70 wim @ s faas
HETM (canopy denaity])

fb) VW W9 &4 (40-70 Wivm % o
famm )

fe) W = (10-20 v ¥ 9= e
1)

fd] (b} 3N o) T
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108, m¥m foem difa, 2020 @ SEhm i

iﬁﬂ"lﬂtﬁﬂﬁ'ﬁﬁﬂ:

1. @4 2025 W% wpa #in T
O % AW A EH-H-%4 50 vheE
Terenfifal %) syyamfas foen & snod)

E.H'Iﬂﬁliﬁﬁmra’lﬂn:ﬂpmn*
iieefem ot w3t % =
WA w0 |

3. =mEaieE wm fem s fomsh
WA (NGOs) T T3H 5=

T wE WY w8 A b
fa) W= 1

(b} Wam |+

fe) a2 3w a

fd) 1,233

109, Hifa (NITY) WM % sEw, Feafafem 4 @

T W FH-H AR, W e He fe vim
H99F, 2020-2021 (Composite SDOG
India Index, 2020-2021) & w=d 4 27
fa) W, yoEe, fuem

fb) I W, wwEE, fEn

e} T wm, Taem, wwm

(d) ifem, faEm, g



1058. Which one of the following Indian States

has the longest coastline?
fa) Tamil Nadu

(B} Gujarat

fe} Maharashtra

fd] Andhra Pradesh

106. Which of the following statements is/are

correct?

1. Visakhapatnam Port is a land-
locked harbour,

2, Deendayal Port is & tidal port.

Sclect the correct answer using the code
given below,

fa) 1 only
bl 2 only
fo) Both 1 and 2

fd} Neither 1 nor 2

107. There {2 an increase in forest cover area
of India between 2011 and 2021
However, there is a8 decrease in forest
cover arca of India during the same
period in

fa) very dense forest (canopy density of
more than 70 percent)

b moderately dense forest (canopy
density between 40-T0 percent)

fc) open foresi [canopy  density
between 10-20 percent)

fdl Both b} and fc)

JNBY-D-GNL/S9A

108, Consider the following statements

concerning the MNational Educaton
Policy, 2020 ;

1. At least 50 percent of the learmers
through school and  higher
education syvstem to get exposure
to voecational education by 2025,

2. Becondary schools should
collaborate with ITls, Polytechnics
and local industries.

3. Vocational education 1t be
exclusively provided by NGOs.

Which of the statements given above
is/are correct?

fal 1 only
Bl 1 and 2 only
fel 2 and 3 only

fd) 1,2 and 3

109, Which of the [bllowing sete of States
is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

fal Assam, Jharkhand, Bihar
fbl Uttar Pradeu.h,_.]haﬁ:hand. Bihar
jc)  Uttar Pradesh, Bihar, Assam

| B-T.O.




110. F=fefem § & f-m, W F AEYE F

=% 51 T W R

fa) STER A S g = W A

b TR F i S f wEE e
T WA TE

fe) wmigm Tl % wowe & fem UN
it #= w TEm

(d) e g0 SAOEE e & P ¥
e drefea o

111. ¥ & 29, T-Fog wEeR (NAM) F e

WM (formative phase) § %R g A
anfive i i

fin) W VEET (Kwame Nirumah)

(b} WA WEW AR (Gamal Abdel
MNasser)

fo) TR TR

id} THEE T [Fidel Castro)
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112. wgEn % gaa 4, Fefafes 49 998 =@

wi #i
1. & um das shn fireem &)

2. wE wEm-sEm Fvs g P
FEm = an

3. F HemgiE T (Deccan) R TR A
a)

Hr2 fag 2 W wEm = I Py
fa) HEE 1 #HT 2
fb) FEA 2 w3
fe) w1 3
fd) 1,233

113, Hmsvwre A, frmen 8 sl iy = snfsfos

TN TEFEGT SO 4T WA U SR
4 #e ot

fa] T A
(o) S ey
fe) Y
fd) Tl &

114. 798 % wmwe W % W S W A iR

i, T s w1 S gl B e R
fa) =TT

fb) HHE T

fe) WTEE JETR

(d) iz W




110. Which one of the following is not & part 112. In respect to Balutedars, which of the

of Article 51 of the Constitution of statemenis given below are correct?
okt 1. They were village servants and
artisans.
2. They were em indmnadual
e} Pm-n-.:ut-: international peace and m:fmm_ ramjbﬁ_ilﬂ}'ﬂd by
security
3. They existed in the Medieval
Deccan and Maharashtra.
{b) Maintain just and honourable Select the correct answer using the code
relations between nations given: below.
fa} 1 and 2 only
fej] Use of UN peacekeeping force for fb) 2 and 3 only

regalution of nternational disputes fe) 1 and 3 only

fdi 1.2 and 3
fdl Encourage seftlement of inisr-
national disputes by arbitration

113. Which one of the ollowing Vicerovs was
the first to officially shift his Council
to Simla in summer season?

fal John Lawrence

111, Who among the following -was mot in ) e Baihonie
the core leadership of the MNon-Aligned fel  Lord Mayvo
Movement (NAM)] in its formative phase?

fdl William Bentinck

fal Kwame Nkrumah
114, Who among the following is the author

of Maze Vidyapeeth, the famous poem
about the life of working class of

fb} Gamal Abdel Nasser Bombay?

fal Narayan Surve
fe}  Jawaharial Nehru fb) Amaol Palekar

fc! Bhalchandra Memade
id} Fidel Castro fdl Narendra Jadhav
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115. ¥ & feuy 109w A g wd o
T

ja) TTETEN 29

fb) UH A T
fo) EAEE 2R
{d) ¥ =g i

116. 3 o, 2021 ¥ #YE UF WOV g0 SET
fm m wwey & od 2023 # feew fm
g = e foly R ot

fa) werefs fmm ® fm Afw fAwe
(Basic Sciences)

(b) W=
fe) TR (Millets)
fd) E2 (Camelids)

117. wif% wrm, fed 1cc w1 T20 P,
2022 % wem R e (M) ww g,
farm &n w1 wfafafome = 27

fa) o=
b} WY 3 T
fc) VeI
[d) =i

118, FRAT =54 (Wassenaar Arrntr.g:m-unqi-‘a
wy # frefaiam 4 @ -m s ol o
¥

fa) 78 = § 42 wivenh o mite &)

b} ¥EEl T WEA: UE wEm  wfem
Frlie (nuclear weapon overseer) %
w4 | fam |

fc} ST T AT W AEEE ey R

fd) WA W o= § 9§ 2017 § witw
il
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19, ¥ # B 'wieh i (Payyoli

Express) &% 919 8 w7 win A7
fa) Tom =m

k) T e

fc) e Fe am

fcdj R FTETER

120, #ier sEmdl gEER, 2022 % Bds @

Hafim g1 ¥ g0 F e gifim A
AR g F A gz owim =
I A

-1

-1
(== =1 9 afn fam) (Fmrs)
A 4F 79 (FEE-TIR) 1. smam
B. gwel & v (wfam- 2. dmom

IR )

C. #FVF (MeH-duE) 3. = AwEm

D. HeRg 497 (97F) 4. T TR
B

l) A B € D
3

ibh A

w
O
&g

fdj A B 2. D



115. Who among the following founded
the Hindu Dharma Ssbha in the
19th century?

fa) Radhakanta Deb

f) Ram Mohan Raoy

fe) Dwarkenath Tagore
fd} Keshab Chandra Sen

116, The resolution adopted by the United
Nations General Assembly on 3 March,
2021 decided to celebrate the year 20323
as the Intermational Year of

fa) Basic Sciences for Sustainable
Development

fb) GClass
fe) Millets
fd] Camelids

117. Earthik Meivappan, who secured
hat-trick in the ICC Men's T20 World
Cup, 2022, represents

faj Zimbabwe
jbl United Arab Emirates
fe) Sri Lanka
fd}] Namibia

118. Which one of the following statements
about the Wassenaar Arrangement is
not correct?

faj There are 42 participating nations
in the Arrangement.

fb) It is formed primarily as a nuclear
WeApon oVerseer,

fe} India is the curréent Chairman of
the Arrangement.

fd) India joined the Arrangement in
the vear 2017,

JNBY-D-GNL/S9A

119. Who among the following 15 known as

‘Payyoli Express™
fa) Hima Das
{b) Dutee Chand
fe) P.T. Usha

{d) Shiny Abraham

120. Match List-l with List-11 relating to

Sahitya Akademi Award Winners, 2022
and select the correct answer using the
code given below the Lists |

Ligt- Ligt—{T

(Title and Genre) {Atithor]
A. Bhool Satya (Short

r—

. Kamal Ranga
Stories)

B. Tumadi Ke Shabd 2. Veena Gupta

{Poetry)

C. Chhe Roopak (Drama] 3. Badri Naravan

D. Alekhun Amba (Play) 4. Manoj Kumar
Goswami
Code ;

) A B € D
1 2 3 4
b A B C 5]
1 3 4
fe)- A ] & ]
4 3 2 1
fdj A B C ]
g 2 3 1

| BT.0.
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